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(a) Conshuct Cost ofliving I ex No. ofyear 2010 on
the basis of year 2004 by Aggrega& Expenditure
Mettod 8

q|antity consum.d
in 2m4

Unit
(2m4) (20r0)

z rl Qlt 50 tm
QII 60 l!0

C 20 Kg Xg t.2
l) 0.J Qrl Qtl 2 3
E l0 KS Kg 20 30
t- l0 K8 Kg 8

{gh aq RE alr q{ 2OO4 + qrqR c( q{ 20t0 + hq
*ql frcfr qr6i6 fr1 a{{ *t :

Qrantity consumcd
itr 20(X

Unit
(2m4) (2010)

2 qtl Qrl 50 rm
B I qtl QII 80 lt0
c Kg 1.2 2.8
t) 0.5 Qtr Q11 2
E l0 Kg Kg 20 30
Ii l0 Kg Xg 8

(b) Cslculak TEnd valucs using 4-1,early moving avoage
fiom the following aaU: 

E

1996 1991 200r 2Ut2 ?sJl

7 8 lt l0 l? !0

B U.E
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Tlne allowed : 3 hoursl [Maimun'no*s : B0

Nole: Attenpt any lirv questions in qll, selec,ing al leost o,tc
and not more thon beo questions rtom eqch arit. All
queslions catry eqwl ,narks.

dt : dq wl i qq a w. r,r ,,frqfaq +ns frdgg W ei?
cIEl d sift Afrs r efr Rl d dq sqn Ft

unit_r (5{_r)

l. Distinguistr between primary and secordary d&ta. Exptain
various methods ofcollecriDg primary Data" 16

crqtr4 df( ftilT6 qr€I i qf,r RlI dfrq I nqfr6 qrdgl d
qffi{ 6{i + Ff{q hftd fl c+i {t I t6

2. (a) What ar€ essential characteristics of a good
question0airc? 6
q6 trd cy{ drkfi si sqr qEs{ Ffu t ? 6

(b) Calculate Mean Deviation ftom mean and median.
Also fiod theb coefficient from the following
data: l0

Class 0,5 5-10 10,15 l5-21) 20-?s 25-30

f 7 r0 l6 32 21 t8

2tll0

sR c{c sfi cr{ 6( Td qrq ffr zm Fq s,id n EfR {rctRt+l: 8

2mi :!m? 2(y,}' 2001

lt t2 8 5
7

[Tum over

lqd
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qlq dt( qE6r t {q Esffi Frf,ii r tsd gqti S illr
rt:

M 0-5 5-10 tGl5 15-20 20-25 25-30

qrffr 7 l0 l6 32 t8

(a) What is correlation ? Explain various types of
carrelation. 8

{arryrq +cr e ? srsrq * Ffc-q r-6R ffiEr( r 8

(b) Calculale Karl Pea$on s Coe{ticieot of mrrelation

fromthe following data: 8

x 50 62 '12 25 60 60

Y 48 65 '74 33 25 55 66

Frcfrfu( qH n 6d R{(€u srs<q gqi+ dn ctr 8

x 12 25 20 60 60

48 65 74 33 25 55 66

(a) In two sets of variables X & Y with 50 items each,

the foilowing data were observed

x=lo,o, =3,i =6,o, = 2, r= 0.3

Howevcr, on subs€que verificatior! it was found

that one value of X=I0 and one value of Yd. Wer€

iruccurate and hence decided to be dclered out with

the remaining 49 pairs ofvalues, find out co[ect v3lue

of correlalion co€ff icient.

(3)

r&+ 50rd sr s xsY+ a (5qd t, FrqfrEd siw]
d ika frq ,rq :

Husboand'r A8c 25 Yrs

wifc's Aga 22 Yts.

Correlation co€fficieot bstwesn age ofhusbsnd 8nd

wife (r) = 0.8 8

qdqqqi s'ffi sl q&q 6{A gc, RcfdEd ff n rS
d lrSqlffd qrg il( $1, q-r qft fl qrg 33 q{ at

lifd d qrg 25 Yrs

Td d qrg 22Yts 5 Yrs

qla <w rS d wrg * *< (6m-{ gqr{ (r) = 0.8 t I 8

uoit-rl({*lI)
What are Index Numb€rs ? Explain uses oflndex Nos. and

dis{uss vsrious problems fic€d ill the constluclion oflndex

Nos. 16

qdsi's REe ftt t ? {ff+ sci,I f,r t ? qffiid tcR 6{i A lrdrrd

wi qrff sqeul d F+s-{ dfrq t 16

a

2lll0 flum over

20

50 62

X=tO,o, =:,V = O,o, =2,r=0.3
nqrm, sr({fi ctc + qES cr cltt cil E cr {i{ x=10

.qr c{ { Yd qge A, {sfrq cr FPfc frqr qql fu sd
we Rqr qc rdrd ii ic a9W t d wq< gqF; aH d?t

(b) From thc following dda, find ttE cxpoct€d age ofwife.

Wh€n husband's 8ge is 33 ycars" using rcgression

equaions

Standard Dcv.

4Yrs.

5 Yrs
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Fit a staight line Trend to the followirg dat& by method of
le{st squarps. Estimate sales for20t2. 16

Year (x) 2003 2004 2005 zAX 2m7 2008 ,009

Sales (y) I 83 60 54 2L 22 l3 23

frq i6 I qrfi qrf Ffr Ero (rd tcr sq-rfrr * T{{ dfrc I s{
2012 A fra q qdw c{Aq j t6

c{ (x) : 2003 2004 2005 2006 2W1 2W

kq (y) : 83 6{) 54 2t 13 23

unit-r[(@m)
(a) State and prove Mirlti!,lication Theorem of

probability. 8

mBan w g"n lfu w t ? {0 fra dlEc | 8

(b) Discuss Properties ofBinomial Disribution. 8

trc< frtn"r fr EAcilsI +1 Flq-{r 6fqq | 8

(a) Three gloups ofnorkers mntain 3 menand I roman,
2 men and 2 woncn ; I m8n aod 2 wom€o r€sp. Orc
worker is sclected &om each group- What is the
gobobility thst lhe sclocled gnoup coDsiss ofooe m8n
and$owomcn? g

qfd + ih qil il 3 qlqt (cl I dlra ; 2 erc{ qr

2 dki r qr6 qR{ nqr 2 drd t r r&+ qtr i i q6 {f{d
gil .rqr I gi Uc qr t * s6 irE* dtr 2,firit gi qri A

. mfrRfl drc cl r 8

2008



(b)

10. (a)

(b)

(6)

A die is so biased that it gives an odd number twice
in r€lation to an even no. Ifthis die is tossed twice,
Iird the;prob&bility that the surrl oftwo tbrows will
be even. g

\q d* + qicqrdTl di i qr("r Ecq s ffi si+ qli sr
.rdqn 2 : I tt qft tR tfifl d 2sR +fl qR d sR Eq +.r
qri d cfqfir cdr$ r 8

The average height ofstudents ofa degrEe college is
65 inches with a variance of l6 inches. How many
studeDts out of a tolal stength of 2000 would you
expect to be over 6 feet tall ? g

crF mffi qafraEc + Eqrffcl fr dffi # 65 ijs q
crt"r 16{s trA 2000 fffiffi i t 6Ez e d!-f dA
kiffiffi ? 6

The average death by tuberculosis in a state is 4 per
day. Using Poisson Distribution, find out that
(i) Exactly 2 and (ii) not more thsn 2 deaths occuned
on a particular day [Tate er = 0.01832]

\16 rq q nif6 i Td srd +1 elF( (qr cftF{ a t r

qf{qq Fdt"r H rtu {{i gs cfttr (02 T{ (iDn A
ok* 7q a *i d nkfir Tdr,i I [er = 0.01832 d] 8

l"?r,rl


